s arGesat ageth&r.

. \ i) if no two s1stefs sit togeth
the Binomial théorem . Use jt 10 prove i

| .ﬁ(n)-—:z for non-negative i Integer n. = | C,
i) zkﬁb(k)(-l) ‘ ‘

=0 , for positive integer n.
_ andermonde’s ldentxty

o

cal dentity. -

Q 4) Solve the follcuwmﬂr (any 3) ' [15]
a) Solve the non- homogenous recurrence relaticn a,= Sa, -6an.2+7
b) Define the term i)Lattice ii)Distributive Lattice 111) Bounded Lattice.

¢) Write a note on Binary operations on the graph.
d) Use Shortest-Path algorithm to find shortest path between the vertices of the following

graph. ;




